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AFMAN 15-111 QUESTIONS

1.
A Basic Weather Watch requires the observer to evaluate weather conditions at intervals not to exceed 20 
minutes when any of the following conditions are observed, or are forecast to occur within the next hour.


a.
Ceiling < 3000', visibility < 4 miles, precipitation, fog or mist


b.
Ceiling < 3000', visibility < 3 miles, precipitation, fog or mist


c.
Ceiling < 1500', visibility < 3 miles, precipitation, fog or mist (AFMAN 15-111, para 1.6.5.2)


d.
Ceiling < 1500', visibility < 2 miles, precipitation, fog or mist

2.
When taking an observation, what is the last element that should be evaluated when conditions are changing 
rapidly?


a.
outside, then inside


b.
inside, then outside


c.
those having the greatest rate of change (AFMAN 15-111, para 2.4.2)


d.
any order, but pressure is always encoded last

3.
A “wind shift” is when the wind direction changes by 45 degrees or more in less than _____ with sustained 
winds (or gust) of ______ or more throughout the wind shift.


a.
15 minutes / 15 knots


b.
15 minutes / 10 knots (AFMAN 15-111, para 2.7.8)


c.
20 minutes / 15 knots


d.
20 minutes / 10 knots

4.
__________ are the only elements, derived from sensors, which are likely to differ between two runways 
(differ from one end of the same runway to the other).


a.
Wind and RVR (AFMAN 15-111, para 2.9.1)


b.
Cloud heights and wind


c.
RVR and station pressure


d.
Temperature and dewpoint

5.
What is the proper coding of an observation for a light rainshower with light drizzle and mist?


a.
-RWDZ FG


b.
-SHRADZ FG


c.
-SHRA-DZ FG


d.
-SHRADZ BR (AFMAN 15-111, para 3.7 and Table 3.4)

6.
The remark DSNT refers to a distance __________.


a.
beyond 5 statute miles


b.
beyond 10 statute miles (AFMAN 15-111, para 3.7.1 NOTE)


c.
beyond 15 statute miles


d.
beyond 25 statute miles

7.
What is the maximum number of  w'w' groups that may be encoded with one descriptor?


a.
1


b.
2


c.
3 (AFMAN 15-111, para 3.7.3)


d.
4

8.
A thunderstorm is considered to have ended __________.


a.
when thunder can no longer be heard


b.
15 minutes after it has stopped raining


c.
when the thunderstorm is no longer at the station (within 5 statute miles / < 8000 meters)


d.
15 minutes after the last occurrence of thunder, hail, and/or lightning (when noise levels in the local 

area is such that thunder cannot be heard) (AFMAN 15-111, para 3.7.3.7) 

9.
Code and report up to three types of precipitation in a single present weather group w'w' with __________ 
encoded first.  


a.
liquid precipitation


b.
frozen precipitation


c.
freezing precipitation


d.
the most dominant (based on intensity) (AFMAN 15-111, para 3.7.4)

10.
What is the maximum number of cloud layers that may be encoded during an observation?


a.
4


b.
5


c.
6 (AFMAN 15-111, para 3.8)


d.
7

11.
After initially transmitting the Wet Runway (WR//) remark longline, you should continue to transmit the 
remark longline __________.


a.
in each METAR until base operation closes, then carry RCRNO


b.
in each METAR and SPECI until base operation closes, then carry RCRNO


c.
in each METAR until amended or canceled by the airfield manager or until base operation closes 


(AFMAN 15-111, para 3.12.2.10.4.2.1)


d.
in each METAR and SPECI until amended or canceled by the airfield manager or until base operation 


closes

12.
After initial transmission, include tower visibility __________.


a.
in each subsequent METAR until conditions are no longer met


b.
in each subsequent METAR and SPECI until conditions are no longer met


c.
in each subsequent METAR until conditions are no longer met or tower closes


d.
in each subsequent METAR and SPECI until conditions are no longer met or tower closes 



(AFMAN 15-111, para 3.12.2.1.2)

13.
In the remark LSR08, LSR stands for Loose Snow on Runway and 08 is the __________.


a.
number of the active runway


b.
average decelerometer reading (AFMAN 15-111, para 3.12.2.10.2)


c.
depth in inches of the snow on the runway


d.
length in thousands of feet of the active runway

14.
If 2.15 inches of rain fell from 0900Z - 1200Z, 3.76 inches of rain fell from 1200Z - 1500Z, and 6.95 inches 
of rain fell from 1500Z - 1800Z, what would the entry be in the 1800Z Precipitation Amount (6RRRR)?


a.
60591


b.
60695


c.
61071 (AFMAN 15-111, para 3.12.3.1.1)


d.
61286

15.
What is the proper additive data coding of a 24 hour precipitation total of two inches?


a.
20020


b.
20200


c.
70020


d.
70200 (AFMAN 15-111, para 3.12.3.1.2)

16.
What is the proper additive data coding for a 1200Z snow depth of 23 inches?


a.
70423


b.
704023


c.
4/023 (AFMAN 15-111, para 3.12.3.1.3)


d.
4/0023

17.
What frequency is encoded in a METAR or SPECI to indicate lightning flashes are occurring at the rate of 3 
flashes per minute?


a.
OCNL (Occasional)


b.
FRQ (Frequent) (Table 3.9)


c.
NMRS (Numerous)


d.
CONS (Continuous)

18.
Pressure must rise/fall at a rate of __________ before the remark PRESRR/PRESFR is applicable.


a.
0.02 inch Hg per hour or more, totaling a change 0.06 inch Hg or more, at the time of observation


b.
0.06 inch Hg per hour or more, totaling a change 0.02 inch Hg or more, at the time of observation 


(Table 3.16)


c.
0.04 inch Hg per hour or more, totaling a change 0.08 inch Hg or more, at the time of observation


d.
0.08 inch Hg per hour or more, totaling a change 0.04 inch Hg or more, at the time of observation

19.
Disseminate METAR, SPECI, and LOCAL observations first to the __________.


a.
base operations


b.
command post


c.
supervisor of flying


d.
positions which control local air traffic (AFMAN 15-111, para 4.3)

20.
When using the Aircraft Report alternative method to determine cloud heights, how would a reported broken 
cloud layer height of 2000 feet MSL (conditions are considered to be representative of the conditions at the 
airfield) be reported for a location with a station elevation of 400 feet?


a.
BKN024


b.
BKN020


c.
BKN016 (AFMAN 15-111, para 5.3.3.4)


d.
Aircraft Reports are not used to estimate cloud layers

21.
Prevailing visibility is __________.


a.
the horizontal distance determined by human evaluation or instrument measurement


b.
the visibility in a specified direction representing a 45 degree arc of the horizon circle


c.
the greatest visibility equaled or exceeded throughout more than one-half of the horizon circle and it has 


to be consecutive throughout 180 degrees of the horizon


d.
the greatest visibility equaled or exceeded throughout at least one-half the horizon circle and it does 

not have to be continuous throughout 180 consecutive degrees (AFMAN 15-111, para 6.2.2)  

22.
When taking an observation at night, __________ is normally the last element observed outdoors.


a.
visibility (AFMAN 15-111, para 6.3.2.2)


b.
cloud cover


c.
precipitation intensity


d.
phenomena not at the station (VC and/or DSNT phenomena)

23.
The proximity qualifier VC is used for weather phenomena occurring between ____ and ____ of the point(s) 
of observation.


a.
5, 10 statute miles (AFMAN 15-111, para 7.2.1.1.2)


b.
10, 15 statute miles


c.
15, 20 statute miles


d.
20, 25 statute miles

24.
In the CONUS, at what point will the observer stop carrying mist (BR) in column 5 and start carrying fog 
(FG) in column 5?


a.
When the sector visibility increases from 1/2 mile to 5/8 mile


b.
When the sector visibility decreases from 5/8 mile to 1/2 mile


c.
When the prevailing visibility decreases from 5/8 mile to 1/2 mile (AFMAN 15-111, para 7.2.2.4.1 


and 7.2.2.4.2) 


d.
When the prevailing visibility increases from 1/2 mile to 5/8 mile

25.
When using a Tactical Aneroid Barometer that has been transported by air, been subjected to a rapid change 
of pressure of 100 hPas (3 inches Hg) or more, or if the temperature of the instrument is changed suddenly by 
an amount exceeding 10 oF (5 oC), __________.


a.
estimate all pressure readings for at least 2 hours


b.
estimate all pressure readings for at least 1 1/2 hours


c.
wait at least 2 hours before taking a pressure reading from the instrument


d.
wait at least 1 1/2 hours before taking a pressure reading from the instrument (AFMAN 15-111, 


para 8.5.4.1)

AFMAN 15-124 QUESTIONS

26.
Unless otherwise specified, elements in the main body of the forecast text (clouds, weather, wind, etc.) apply 
to the area within a _____ statute mile (_____ meters) radius of the runway complex.


a.
2 / 3200


b.
3 / 4800


c.
4 / 6000


d.
5 / 8000 (AFMAN 15-124, para 1.1.1)

27.
Scheduled TAFs are issued every __________ hours.


a.
3


b.
6 (AFMAN 15-124, para 1.3)


c.
12


d.
18

28.
When is "specification criteria" required to be specified in a TAF?


a.
Scheduled TAFs only


b.
Amended TAFs only


c.
Both scheduled and amended TAFs (AFMAN 15-124, para 1.4)


d.
Determined locally by the customers

29.
Which of the following is not specification criteria, required by AFMAN 15-124?


a.
Gust Spread of 10 knots (AFMAN 15-124, para 1.4.1)


b.
Non-convective low level wind shear


c.
Precipitation


d.
Ceiling/Visibility of 3000 feet and 3 miles (4800 meters) respectively

30.
Which of the following is not amendment criteria, required by AFMAN 15-124?


a.
Ceiling/Visibility of 3000 feet and 3 miles (4800 meters) respectively


b.
Weather warning and/or TAF amendable weather advisory criteria


c.
Non-convective low level wind shear


d.
Turbulence and Icing which first meets, exceeds, or decreases below light or greater thresholds (for 

CAT II aircraft) and was not specified in the forecast (AFMAN 15-124, para 1.5.2)

31.
The altimeter setting in a BECMG change group of a TAF is the __________.


a.
lowest setting expected for the first six hours of the TAF


b.
lowest setting expected for the valid time of the change group (AFMAN 15-124, para 1.7.3.9)


c.
highest setting expected for the valid time of the change group


d.
average setting expected for the valid time of the change group

32.
Encode fog as BR (mist) when forecasting a fog-restricted visibility of _____ meters or more and as FG (fog) 
when forecasting less than _____ meters.


a.
500 / 1000


b.
1000 / 1000 (AFMAN 15-124, para 1.7.3.4.3)


c.
1000 / 1600


d.
1600 / 3200

33.
How would you encode a forecast for scattered towering cumulus at 2500 feet, cumulus at 3500 feet, and a 
cumulonimbus at 4000 feet?


a.
SCT025TCU
SCT035
SCT040


b.
SCT025TCU
SCT035
SCT040CB


c.
SCT025
SCT035
SCT040CB (AFMAN 15-124, paras 1.7.3.5, 1.7.3.5.1, 1.7.3.5.2, 1.7.3.5.6, 


and 1.7.3.5.7)


d.
SCT025
SCT035
SCT040

34.
When forecasting a surface based partial obscuration that will cover 5/8th of the sky, code the sky condition 
as __________.


a.
surface based partial obscurations are not encoded in the TAF


b.
SCT000


c.
BKN000 (AFMAN 15-124, para 1.7.3.5.4)


d.
VV000

35.
What is the only cloud type(s) included in the forecast?


a.
CB (AFMAN 15-124, para 1.7.3.5.7)


b.
TCU


c.
ACC


d.
CB and TCU

36.
In civilian TAFs, CAVOK is encoded only when __________.


a.
forecast visibility is 10 kilometers or more


b.
no clouds below 5000 feet or below the highest minimum sector altitude, whichever is greater, and no 


Cumulonimbus


c.
no precipitation, thunderstorms, duststorm, sandstorm, shallow fog, or low drifting dust, sand, or snow


d.
all of the above must occur simultaneously (AFMAN 15-124, para 1.7.3.6.1 - 1.7.3.6.3)

37.
When a layer of icing is forecast to be thicker than 9000 feet, how is it encoded in the forecast?


a.
Repeat the icing group so that the base of the layer expressed by the second group coincides with 


the top of the layer given by the first (AFMAN 15-124, para 1.7.3.7.4)


b.
Repeat the icing group so that the top of the layer expressed by the second group coincides with the top 


of the layer given by the first


c.
Repeat the icing group so that the base of the layer expressed by the second group coincides with the base 

of the layer given by the first


d.
You must not forecast icing thicker than 9000 feet in a local forecast, forecasting icing above 10,000 


MSL is an AFGWC responsibility

38.
When relaying a forecast via the PMSV, how would you decode the element 520102 contained in a Terminal 
Aerodrome Forecast?


a.
A forecast for light rime icing from 1000 feet to 2000 feet


b.
A forecast for light turbulence from 1000 feet to 2000 feet


c.
A forecast for light, occasional moderate rime icing from 1000 feet to 3000 feet


d.
A forecast for light, occasional moderate turbulence from 1000 feet to 3000 feet AGL (AFMAN 15-


124, para 1.7.3.8.1 - 1.7.3.8.4, and Table 1.3, 1.5, and 1.6)

39.
What are the basic criteria for forecasting turbulence and icing in the TAF?


a.
When expected at or below 10000 feet AGL


b.
When expected at or below 10000 feet MSL (AFMAN 15-124, para 1.7.3.8 NOTE)


c.
When expected, regardless of height


d.
When expected in association with thunderstorm activity at or below 10000 feet AGL

40.
To indicate wind shear when complete information can not be reliably forecast with high confidence (usually 
beyond six hours), use the remark __________.


a.
LLWS


b.
WSCONDS (AFMAN 15-124, para 1.7.4.2.1)


c.
PSBL LLWS


d.
PSBL WSCONDS

41.
When decoding a forecast, the element WS015/30035KT indicates __________.


a.
non-convective low-level wind shear, wind shear threshold is reached at 1500 feet, forecast wind 


above the indicated height 300 at 35 knots (AFMAN 15-124, para 1.7.4.2.1 - 1.7.4.2.1.3)


b.
convective low-level wind shear, wind shear threshold is reached at 1500 feet, forecast wind above the 


indicated height 300 at 35 knots


c.
non-convective low-level wind shear, wind shear threshold is reached at 150 feet, forecast wind above 


the indicated height 300 at 35 knots


d.
convective low-level wind shear, wind shear threshold is reached at 150 feet, forecast wind above the 


indicated height 300 at 35 knots

42.
In the TAF entry WS015/24040KT, 015 describes the __________.


a.
active runway


b.
speed, in knots, of the forecast wind


c.
direction, degrees true, of the forecast wind


d.
height at which the wind shear threshold is reached (AFMAN 15-124, para 1.7.4.2.1.3)

43.
All of the following elements can be forecast to change using a TEMPO group except __________.


a.
Ceiling


b.
Visibility


c.
Winds


d.
Altimeter Setting (AFMAN 15-124, para 1.7.5)

44.
When using a TEMPO group, the time frame indicates frequent or infrequent temporary fluctuations to the 
forecast meteorological conditions and describes conditions that will __________.


a.
occur for more than 1 hour at a time (1 hour 15 minutes for thunderstorms) and, in the aggregate, cover 


less than half of the period indicated by the time GGGeGe


b.
occur for more than 1 hour at a time (1 hour 15 minutes for thunderstorms) and, in the aggregate, cover 


more than half of the period indicated by the time GGGeGe


c.
occur for less than 1 hour at a time (1 hour 15 minutes for thunderstorms) and, in the aggregate, 


cover less than half of the period indicated by the time GGGeGe (AFMAN 15-124, para 1.7.5.3)


d.
occur for less than 1 hour at a time (1 hour 15 minutes for thunderstorms) and, in the aggregate, cover 


more than half of the period indicated by the time GGGeGe

45.
The TAF remark "LAST NO AMDS AFT 0502 NEXT 0512" indicates __________.


a.
a limited duty station where the observer has gone off-duty on the 5th at 02Z, and the forecast can't be 


amended until the observer returns to duty


b.
a limited duty station where the observer has gone off-duty on the 5th at 02Z, and the station is under a 


limited metwatch by the forecaster until the observer returns to duty


c.
a limited duty station where the forecaster has gone off-duty on the 5th at 02Z, and the station is under a 


limited metwatch until the forecaster returns to duty


d.
a limited duty station where the forecaster has gone off-duty on the 5th at 02Z, and the station is 


not under a limited metwatch when the forecaster is off-duty (AFMAN 15-124, para 1.7.7.2)

46.
What is the proper code for a forecast waterspout?


a.
+TSFC


b.
FC


c.
+FC WATERSPOUT


d.
+FC (AFMAN 15-124, Table 1.2)

47.
What is the proper coding for a thunderstorm with light rainshowers?


a.
TRW


b.
TSSHRA


c.
-TSRA (AFMAN 15-124, Table 1.2)


d.
TSRW

48.
What is the correct encoding of a forecast for "light rime icing between 4000 and 6000 feet AGL"?


a.
620406


b.
620410


c.
620402 (AFMAN 15-124, Table 1.3, 1.4, and 1.5)


d.
620604

49.
Which of the following is an example of how to encode forecast moderate icing in cloud from 5,000 AGL up 
to 16000 feet AGL?


a.
650508 651402


b.
640509 651402


c.
650509 651402 (AFMAN 15-124, Table 1.3, 1.4, and 1.5)


d.
660509 651402

50.
__________ would be decoded as a forecast for moderate turbulence in cloud, frequent from 1000 feet to 
5000 feet AGL.


a.
520014


b.
550104 (AFMAN 15-124, Table 1.3, 1.5, and 1.6)


c.
520015


d.
520105

51.
The following are amendment criteria that the NWS uses to issue amendments, except __________.


a.
ceiling increases to equal or exceed 1000 feet, or falls below 600 feet (2.2.16.1)


b.
visibility increases to 7 statute miles or more, or falls below 3 statute miles (2.2.16.2)


c.
thunderstorm, Freezing precipitation, or Ice Pellets are no longer expected at the airport (2.2.16.3)


d.
wind direction expected to differ by 30 degrees or more, with an accompanying mean wind speed of 

5 knots or more (AFMAN 15-124, para 2.2.16)

52.
PROB is the probability group indicator, used by the NWS and Navy, and C2C2 is the forecast percentage, 
used to express the probability of occurrence of thunderstorms or precipitation events and associated 
conditions expected to cover the range of roughly ________.


a.
15 to 35%


b.
20 to 40%


c.
25 to 45% 


d.
30 to 45% (AFMAN 15-124, para 2.2.14 and 3.3.3.1.2)

53.
At Limited Duty Stations (LDS), what is the transmit time of a TAF?


a.
One hour prior to their DoD FLIP published forecast service opening time


b.
Within 15 minutes after their DoD FLIP published forecast service opening time (AFMAN 15-124, 


para 1.3.1)


c.
One hour after their DoD FLIP published forecast service opening time


d.
No requirement for this time exist, it is up to the unit

54.
Which of the following is not Navy and Marine Corps Amendment Criteria, as outlined by AFMAN 15-124?


a.
Ceiling and/or visibility's are observed or are later forecast to increase to, equal or exceed, or decrease to 


less than 1000 feet/1 statute miles (1600 meters).


b.
Wind speed or directional change which has resulted in a change of the active duty runway.


c.
Thunderstorms increases or decreases in intensity. (AFMAN 15-124, para 3.3.2.)


d.
Whenever the observed altimeter falls below or is expected to fall below the forecast minimum altimeter 


for the applicable forecast period.

55.
The use of the contraction "AUTO" in the heading of the Automated Surface Observation Systems (ASOS) 
observation will signify __________.


a.
the observation is fully automated with no human oversight (AFMAN 15-124, para 4.6)


b.
the observation is fully automated with limited human oversight


c.
the observation is partially automated with no human oversight


d.
the observation is partially automated with limited human oversight

56.
The prevailing visibility that is being reported in an Automated Surface Observation Systems (ASOS) 
observation represents a __________.


a.
1 minute average


b.
2 minute average


c.
5 minute average


d.
10 minute average (AFMAN 15-124, para 4.6.1.2)

57.
When transmitting a PIREP, as a minimum, entries must be made for __________.


a.
message type, location, time


b.
message type, location, time, and at least one other element


c.
message type, location, time, flight level, and at least one other element


d.
message type, location, time, flight level, type of aircraft, and at least one other element (AFMAN 


15-124, para 5.2)

58.
When encoding a PIREP the contraction "UUA" shall be used whenever any of the following are reported 
__________.


a.
Hail (GR or GS)


b.
Low Level Wind Shear


c.
Severe icing


d.
All of the above (AFMAN 15-124, para 5.2.1)

59.
When transmitting a PIREP, describe the reported phenomenon or phenomena occurred by reference to 
__________.


a.
the nearest military installation


b.
your home station (PMSV location)


c.
the nearest military installation or civilian airport


d.
a VHF NAVAID(s) or an airport using the four-letter location identifier (AFMAN 15-124, para 


5.2.2)

60.
If a span of time is reported by the pilot for phenomenon that occurred or was encountered, what is encoded 
in the Time (/TM) block?


a.
The beginning time of the encounter


b.
The midpoint of the encounter (AFMAN 15-124, para 5.2.3)


c.
The ending time of the encounter


d.
The time the pilot contacts the weather station

61.
For a station at sea level, what is the correct format for encoding a PIREP if the following sky condition 
report were received?


Broken clouds were observed during climbout from 500 feet to 1,700 feet, and from 2,500 feet to 5,200 feet.


a.
/SK_BKN005-017/025-052


b.
/SK_BKN005-017/BKN025-052 (AFMAN 15-124, para 5.2.6.1)


c.
/SK_BKN005-017/BKN025-050


d.
/SK_BKN005-017/BKN025-050/SKC

62.
If reported by the pilot, unrestricted flight visibility in the CONUS will be encoded as __________.


a.
FVUR


b.
FVUNRES


c.
FV99


d.
FV99SM (AFMAN 15-124, para 5.2.7.1)

63.
If reported by the pilot, flight visibility will be the first entry in the __________.


a.
/WX field (AFMAN 15-124, para 5.2.7.1)


b.
/RM field


c.
/SK field


d.
/FL field

64.
What are the intensities that may be encoded with "CHOP" turbulence?


a.
Light only


b.
Light and moderate (AFMAN 15-124, para 5.2.10.2)


c.
Light, moderate, and severe


d.
Light, moderate, severe, and extreme

65.
A PIREP containing a report of Low Level Wind Shear would be classified as an Urgent (UUA) PIREP when 
the fluctuation in airspeed is __________.


a.
5 knots or more


b.
10 knots or more (AFMAN 15-124, para 5.2.12.1)


c.
15 knots or more


d.
20 knots or more

66.
How is a tornado encoded in a PIREP?


a.
+FC is entered in the /WX Weather TEI and TORNADO is spelled out in the /RM Remarks TEI 


(AFMAN 15-124, Table 5.1)


b.
+FC is entered in the /WX Weather TEI and nothing is spelled out in the /RM Remarks TEI


c.
FC is entered in the /WX Weather TEI and TORNADO is spelled out in the /RM Remarks TEI


d.
FC is entered in the /WX Weather TEI and nothing is spelled out in the /RM Remarks TEI


Use the following forecast to answer the following questions (67-75). 


KXXX TAF 011212 15010KT 9999 SCT010 SCT020 QNH3001INS


BECMG 1314 19012G20KT 9999 SCT010 BKN020 520005 QNH2998INS


BECMG 1516 24015G25KT 9000 -RA BKN010 OVC015 520005 620156 QNH2995INS


BECMG 1819 32015G25KT 8000 -FZRA OVC010 520005 690001 650156 QNH2992INS


BECMG 2021 32012KT 3200 -SN OVC005 620007 QNH2995INS


TEMPO 2124 0800 SN VV001


BECMG 0001 33005KT 4800 -SN BKN010 OVC015 620106 QNH3000INS


BECMG 0405 36005KT 9999 NSW BKN020 QNH3005INS

67.
If an aircraft was arriving at KXXX and the above forecast was in effect, what visibility would the observer 
relay to the aircrew via the PMSV for an arrival time of 2230Z?


a.
1/2SM (0800 meters)


b.
1/2SM (0800 meters) temporarily 2SM (3200 meters)


c.
2SM (3200 meters)


d.
2SM (3200 meters) temporarily 1/2SM (0800 meters) (AFMAN 15-124, para 1.7.3.3, 1.7.5.3, and 


Table 1.1)

68.
If an aircraft was arriving at KXXX and the above forecast was in effect, what ceiling would the observer 
relay to the aircrew via the PMSV for an arrival time of 0030Z?


a.
500 feet (AFMAN 15-124, para 1.7.3.5.1, 1.7.3.5.2,  and 1.7.5.3)


b.
500 feet temporarily 100 feet


c.
1000 feet


d.
1000 feet temporarily 100 feet

69.
At what time is KXXX expecting icing to begin in their terminal area?


a.
By 14Z


b.
By 16Z (AFMAN 15-124, para 1.7.3.7)


c.
By 19Z


d.
By 21Z

70.
At what time is KXXX expecting turbulence to begin in their terminal area?


a.
By 14Z (AFMAN 15-124, para 1.7.3.8)


b.
By 16Z


c.
By 19Z


d.
By 21Z

71.
In the BECMG group 1314, QNH2998INS represents the __________.


a.
actual altimeter setting expected (in inches) during the Becoming group


b.
average altimeter setting expected (in inches) during the Becoming group


c.
lowest altimeter setting expected (in inches) during the Becoming group (AFMAN 15-124, para 


1.7.3.9)


d.
highest altimeter setting expected (in inches) during the Becoming group

72.
What level of icing is forecast for station KXXX at 1730Z?


a.
Surface to 500 feet


b.
Surface to 5000 feet


c.
1500 feet to 6000 feet


d.
1500 feet to 7500 feet (AFMAN 15-124, Table 1.3 and 1.5)

73.
What level of turbulence is forecast for station KXXX at 1730Z?


a.
Surface to 500 feet


b.
Surface to 5000 feet (AFMAN 15-124, Table 1.3 and 1.5)


c.
1500 feet to 6000 feet


d.
1500 feet to 7500 feet

74.
During a PMSV contact, what type of icing would be relayed to the aircrew for an arrival time of 1930Z?


a.
Light to occasionally moderate icing in clear air


b.
Moderate icing in clear air


c.
Severe icing in precipitation (clear)


d.
Severe icing in precipitation (clear) and moderate icing in cloud (rime) (AFMAN 15-124, Table 1.4)

75.
During a PMSV contact, what type of turbulence would be relayed to the aircrew for an arrival time of 
1930Z? 


a.
Light turbulence


b.
Moderate turbulence in clear air, occasional (AFMAN 15-124, Table 1.6)


c.
Severe turbulence in cloud, frequent


d.
Severe turbulence in cloud, frequent and moderate turbulence in cloud, frequent

AFMAN 15-125 QUESTIONS

76.
The TAF is used primarily to support __________.


a.
aircraft operations


b.
general base/post activities


c.
aircraft operations and general base/post activities (AFMAN 15-125, para 1.3.3)


d.
development of the AWN data base (TAFs are made available to all via ARQ)

77.
A weather warning is __________.


a.
issued when the customer does not require advanced notification of a particular weather phenomenon


b.
a special notice provided to supported customer that alerts them to weather conditions that could affect 


their operations


c.
a special notice provided to supported customers that alerts them to weather conditions of such 


intensity as to pose a hazard to life or property (AFMAN 15-125, para 2.1.1.3)


d.
a special notice provided to supported customers that alerts them of a potential for weather conditions of 


such intensity as to pose a hazard to life or property

78.
A forecast weather warning for freezing rain has an issue time of 1600Z with a forecast time of first 
occurrence of 1730Z.  If the actual time of first occurrence of the freezing rain is 1715Z, the timing error on 
the warning would be __________?


a.
-15 minutes (AFMAN 15-125, para 2.1.1.8)


b.
+15 minutes


c.
-1 hour 15 minutes


d.
+1 hour 15 minutes

79.
A weather warning for winds 50 knots or greater and hail 3/4 inch or greater is issued at 2000Z.  The forecast 
time of first occurrence for both criteria is 2200Z.  If the actual time of first occurrence for hail 3/4 inch or 
greater is 2130Z and the actual time of first occurrence for winds 50 knots or greater is 2215Z, the actual lead 
time on the warning would be __________.


a.
+1 hour 30 minutes


b.
+2 hours 15 minutes


c.
-30 minutes for hail 3/4 inch or greater, + 15 minutes for winds 50 knots or greater


d.
+1 hour 30 minutes for hail 3/4 inch or greater, + 2 hours 15 minutes for winds 50 knots or greater 


(AFMAN 15-125, para 2.1.1.6, 2.4.6 and atch 3)

80.
A weather advisory would be extended __________.


a.
only if the duration changes


b.
if the forecaster expects the duration to change 


c.
only when the forecaster considers the extension to be operationally significant 


d.
only if the duration changes, and the extension is issued prior to the expiration of the original 


advisory (AFMAN 15-125, para 2.3.4.4)

81.
When a warning no longer adequately describes the phenomenon or its onset (and warning criteria is still 
expected), amend the warning by 
__________.


a.
warnings can not be amended


b.
issuing a completely new warning (with a new number) (AFMAN 15-125, para 2.4.7.1)


c.
upgrading/downgrading the warning to a weather advisory


d.
revise the warning so that it adequately describes the phenomenon or its onset, and then reissue the 


warning using the same number

82.
Weather units should cancel warnings __________.


a.
after the warning has been allowed to expire (ATE)


b.
when previously forecast conditions abate or are no longer expected to recur (AFMAN 15-125, para 

2.4.8)


c.
when an unforecast single occurrence has stopped and is not expected to recur


d.
in accordance with guidance provided by the leader of the severe weather management team

83.
Forecast discussions are to be attended by __________.


a.
all available personnel (AFMAN 15-125, para 4.3.3.7.2)


b.
all on-coming and off-going personnel


c.
all on-coming and off-going forecast personnel


d.
all on-coming personnel and the off-going forecaster 

84.
What symbol would indicate an air mass with a polar origin, a history of continental characteristics, and the 
air is colder than the surface that it is moving over?


a.
cPc


b.
cPk (AFMAN 15-125, para 4.4.2.3.1, 4.4.2.3.2, and 4.4.2.3.3)


c.
conPc


d.
conPk

85.
Isallohypses are __________.


a.
lines of equal dew point


b.
lines of equal temperature


c.
lines of equal height change (AFMAN 15-125, para 4.4.2.7)


d.
lines of equal 3 hour pressure change

86.
The ARQ precedence code Priority (PP) is used to satisfy __________.


a.
urgent requirements for data which aren’t available in-station


b.
routine requirements for data which aren’t available in-station


c.
requirements for data not available in-station to provide timely operational support (AFMAN 15-


125, para 6.8.4.2)


d.
requirements for data not available in-station to provide support to non-recurring operational 



requirements

87.
Which of the following is an example of when you should use a Priority (PP) request via an ARQ from the AWN?


a.
Exercise support


b.
Wartime operations


c.
Pilot-to-Metro support (AFMAN 15-125, 6.8.4.2)


d.
Routine forecast data for flight briefings

88.
__________ for a station will be provided when the identifier TW is used to ARQ data.


a.
The latest hourly observation and latest terminal forecast


b.
The latest hourly observation, latest terminal forecast, and latest radar report


c.
The latest hourly observation, subsequent special observations, and latest terminal forecast 


(AFMAN 15-125, para 6.9.1.5)


d.
The latest hourly observation, subsequent special observations, latest terminal forecast, and latest radar 


report

89.
If there is a problem getting an alphanumeric product to the field, normally a __________ bulletin is sent to 
advise the field of all events (i.e., delays, back logs, etc.).


a.
NOXX (AFMAN 15-125, para 6.13.5)


b.
AXXX


c.
AXUS


d.
AXPA

90.
When may a forecaster trainee respond to an actual PMSV call?


a.
When provided with proper supervision (AFMAN 15-125, para 9.1.1)


b.
Trainees may not respond to actual PMSV calls


c.
After completing 6 months On The-Job Training


d.
After completing the 5-level weather journeyman CDCs

91.
Which is not a correct statement concerning proper radio procedures?


a.
You may use the PMSV to vector aircraft (AFMAN 15-125, para 9.2)


b.
You may voluntarily provide information that the aircrew did not request


c.
You may identify locations by well-known navigational aids or ground references


d.
You must warn the aircrew if only trace rime icing is forecast to affect their route of flight

92.
A performance check on the PMSV equipment is conducted __________.


a.
each day


b.
each day and upon return of radio equipment from maintenance


c.
each day and anytime the operator suspects the radio may have a problem


d.
each day, anytime the operator suspects the radio may have a problem, and upon return of radio 


equipment from maintenance (AFMAN 15-125, para 9.2.3)

93.
Stations with continuous forecasting service will maintain a list of all base weather stations within 
__________ that operate PMSV equipment on the same frequency but have limited duty forecasting and/or 
observing service.


a.
200NM (AFMAN 15-125, para 9.5)


b.
200SM


c.
150SM


d.
150NM

94.
All of the following elements are reported as a severe PIREP (UUA) except __________.


a.
Squall lines


b.
Moderate icing (AFMAN 15-125, para 10.6.1)


c.
Volcanic ash cloud


d.
Light mountain wave turbulence

95.
When is a PIREP not required to be encoded and disseminated longline?


a.
When the PIREP contains reports of only light mountain wave turbulence.


b.
When the PIREP includes substantially the same data already transmitted within the past 60 minutes.


c.
When the PIREP contains only cloud base heights which have been incorporated into the current 


surface observation. (AFMAN 15-125, para 10.6.2.1)


d.
When the PIREP contains negative reports of icing and/or turbulence from locations inside forecast areas 

for these phenomena.

96.
When providing a flight weather briefing, the briefer will request that the aircrew provide PIREPS 
__________.


a.
during takeoff


b.
during takeoff and at destination


c.
during takeoff, enroute, and at destination (AFMAN 15-125, para 11.3.5)


d.
only when significant weather conditions are encountered

97.
When completing the AF Form 3807 Watch/Warning Notification and Verification __________.


a.
objective verification is required for all weather warnings


b.
objective verification is required for all weather warnings and watches


c.
verification, either objective or subjective, is required for all weather warnings


d.
verification, either objective or subjective, is required for all weather warnings and watches


(AFMAN 15-125, atch 3)

98.
When completing the Minimum Ceiling and Location section on the DD Form 175-1, the forecaster must 
indicate on the form __________.


a.
the minimum ceiling enroute in hundreds of feet (MSL)


b.
only those locations where the minimum ceiling is below 1000 feet (AGL)


c.
when the minimum ceiling is over hilly or mountainous terrain, or in thunderstorms (AFMAN 15-


125, atch 8)


d.
the minimum ceiling enroute in hundreds of feet (MSL) and the geographical location

99.
When completing the Void Time section on the DD Form 175-1, the forecaster will __________.


a.
add 1:30 to the entry in Weather Briefed for Navy flights


b.
add 1:30 to the entry in Weather Briefed for Army flights (AFMAN 15-125, atch 8) 


c.
ensure the Void Time does not exceed 1/2 hour past ETD or 2 hours from the time entered under 


Weather Briefed or Weather Restricted for Army flights


d.
ensure the Void Time does not exceed 1/2 hour past ETD or 11/2 hours from the time entered under 


Weather Briefed or Weather Restricted for Navy flights

100.
When a TAF contains the remark "LAST NO AMDS AFT 1705 NEXT 1715, when would the observer be 
required to stop providing information from the TAF to an aircrew during a PMSV contact?


a.
5th at 17Z


b.
17th at 5Z (AFMAN 15-125, para 9.1.1.3)


c.
15th at 17Z


d.
17th at 15Z

AWS/TN-88/001 QUESTIONS

101.
The feature on a visible image that will be the brightest white is __________.


a.
thin cirrostratus


b.
3-7 day old snow


c
White Sands, NM


d.
a large thunderstorm (AWS/TN-88/001, page 1-A-7)

102.
The most reliable indicator for differentiating between clouds and snow cover on a visible satellite image is 
__________.


a.
using the SN (snow) enhancement curve


b.
comparing the image to surface observations


c.
being able to recognize known terrain features (AWS/TN- 88/001, page 1-A-15)


d.
using the lower temperatures being emitted from the higher, colder cloud deck

103.
The Infrared (IR) sensor measures the __________ for conversion into a satellite image.


a.
energy level at specific wavelengths (AWS/TN-88/001, page 1-A-17)


b.
amount of energy absorbed by an object


c.
temperature absorption at specific wavelengths


d.
amount of sunlight reflected from objects below

104.
The MB curve was designed primarily to show areas of __________.


a.
low clouds


b.
convection (AWS/TN-88/001, page 1-A-27)


c.
cold air advection


d.
dense cirrostratus

105.
Cumulus clouds will normally cast shadows on lower clouds __________.


a.
during the late evening hours


b.
during the early morning hours


c.
during the early morning and late evening hours when the sun angle is low (AWS/TN-88/001, page 


1-A-37)


d.
during the early morning and late evening hours when the sun angle is high

106.
__________ is a multifaceted phenomena which increases towards the edges of satellite imagery where 
resolution becomes poorer, distortion increases and cloud location is displaced due to the error of parallax.


a.
Attenuation


b.
Contamination


c.
Foreshortening (AWS/TN-88/001, page 1-E-3)


d.
Infrared Sensor Lag

107.
__________ depends on cloud thickness, cloud spacing, sensor viewing angle, and the vertical temperature 
profile.


a.
Attenuation


b.
Contamination (AWS/TN-88/001, page 1-E-4)


c.
Foreshortening


d.
Infrared Sensor Lag

108.
__________ is a decrease in radiation received at the spacecraft due to energy scattering and absorption by 
the atmosphere.


a.
Attenuation (AWS/TN-88/001, page 1-E-4)


b.
Contamination


c.
Foreshortening


d.
Infrared Sensor Lag

109.
The primary impact of foreshortening is __________ and the impact __________ be corrected with a 
correction chart.


a.
cloud displacement / can (AWS/TN-88/001, page 1-E-5)


b.
cloud displacement / can not


c.
clouds appear lower / can


d.
clouds appear lower / can not

110.
When contamination is affecting the satellite images, the clouds will __________.


a.
be displaced to the east


b.
be displaced to the east


c.
appear lower than they actually are (AWS/TN-88/001, page 1-E-5)


d.
appear higher than they actually are

111.
When attenuation is affecting the satellite images, the clouds will __________.


a.
be displaced to the east


b.
be displaced to the east


c.
appear lower than they actually are


d.
appear higher than they actually are (AWS/TN-88/001, page 1-E-5)

112.
A __________ is a narrow cloud band in which the individual cells are connected. 


a.
cloud line (AWS/TN-88/001, page 1-G-1)


b.
cloud street


c.
cloud finger


d.
cloud element

113.
A __________ is a narrow cloud band in which the individual cells are not connected. 


a.
cloud line


b.
cloud street (AWS/TN-88/001, page 1-G-1)


c.
cloud finger


d.
cloud element

114.
Open cellular cloud patterns are found in areas of __________ flow and closed cellular patterns occur most 
often in __________ flow.


a.
weak / strong


b.
strong / weak


c.
anticyclonic / cyclonic


d.
cyclonic / anticyclonic (AWS/TN-88/001, page 1-G-10)

115.
The __________ cloud pattern appears as small-scale lines at an angle almost perpendicular to the main jet 
or maximum wind flow and indicate horizontal divergence away from the wind core.


a.
striations


b.
billow cirrus


c.
cirrus streaks


d.
transverse banding (AWS/TN-88/001, page 1-G-11)

116.
__________ form parallel to the flow and to the right of the jet stream when there is insufficient moisture to 
form a full cirrus shield.


a.
Striations


b.
Billow cirrus


c.
Cirrus streaks (AWS/TN-88/001, page 1-G-11)


d.
Transverse banding

117.
__________ are narrow, straight or curved streaks in clouds which appear in an overcast area, and give 
indications of the orientation of the thickness lines. 


a.
Striations (AWS/TN-88/001, page 1-G-13)


b.
Billow cirrus


c.
Cirrus streaks


d.
Transverse banding

118.
An elongated region located along the stretching axes of a col is defined as a __________.


a.
baroclinic zone


b.
baratropic zone


c.
hyperbolic zone


d.
deformation zone (AWS/TN-88/001, page 2-A-2)

119.
__________ is the name given to a type of elongated cloud pattern frequently present prior to the beginning 
of surface cyclogenesis in the westerlies and associated with the frontogenetic phase of system development.


a.
Comma cloud


b.
Baroclinic leaf (AWS/TN-88/001, page 2-A-21)


c.
Baratropic leaf


d.
Deformation zone

120.
A __________ is defined as a cold core upper air circulation system which is no longer associated with a jet 
stream or wind maxima.


a.
cut-off low (AWS/TN-88/001, page 2-A-32)


b.
cut-off high


c.
thermal low


d.
blocking ridge

121.
__________ within the cyclonic circulation under the cold air core of the low and consists of towering 
cumulus or thunderstorms.


a.
Core convection occurs (AWS/TN-88/001, page 2-A-34)


b.
Squall line development occurs


c.
Deformation zone clouds occur


d.
Baroclinic zone cloud shields occur

122.
The two basic types of jets are __________ and by definition the difference between them depends on the 
relation between the height contours and vorticity isopleths on the 500mb surface.


a.
channel and advection (AWS/TN-88/001, page 2-B-1)


b.
channel and high zonal


c.
low zonal and advection


d.
low zonal and high zonal

123.
The __________ is a lobe of vorticity whose axis crosses the height contours or streamlines at large or 
significant angles.


a.
shear lobe


b.
positive lobe


c.
negative lobe


d.
advection lobe (AWS/TN-88/001, page 2-B-3)

124.
The __________ is a lobe of vorticity whose axis is parallel or nearly parallel to the height contours or 
streamlines.


a.
shear lobe (AWS/TN-88/001, page 2-B-3)


b.
positive lobe


c.
negative lobe


d.
advection lobe

125.
Axes of maximum wind bands aloft act as a border between __________.


a.
downstream and upstream core convection


b.
downstream and upstream baroclinic zones


c.
moist air on the cyclonic shear side and dry air on the anticyclonic shear side


d.
dry air on the cyclonic shear side and moist air on the anticyclonic shear side (AWS/TN-88/001,


page 2-B-6)

RADAR QUESTIONS
126.
A parcel’s actual speed is observed and displayed when __________.


a.
target motion is at least 50 knots


b.
target motion is parallel to the radar beam (SC 2570, Vol 6, A07, page 1-39)


c.
target motion is perpendicular to the radar beam


d.
target motion is 90 degrees left of the radar beam

127.
A request for a product not on the current routine product set (RPS) list is called a __________.


a.
routine data delivery


b.
routine product request


c.
archive product request


d.
one-time product request (SC 2570, Vol 6, page 2-32)

128.
__________ are available to the PUP operator for each alert category.


a.
Up to 3 alert threshold values


b.
Up to 6 alert threshold values (SC 2570, Vol 6, page 2-35)


c.
Up to 10 alert threshold values


d.
Up to 20 alert threshold values

129.
For the WSR-88D to generate a base reflectivity product, the antenna must complete __________.


a.
one elevation slice (SC 2570, Vol 6, page 3-2)


b.
one complete product set


c.
an entire volume coverage pattern


d.
at least two complete volume coverage patterns

130.
__________ is the ideal location to look for a hook echo signature.


a.
Near the mid-levels of a severe thunderstorm


b.
Near the upper-levels of a severe thunderstorm


c.
In the right front quadrant of the leading half of the storm


d.
Near the right rear quadrant of the trailing half of the storm (SC 2570, Vol 6, A22, page 3-7)

131.
__________ is considered to be the approximate precipitation threshold.


a.
-18 dBZ


b.
-30 dBZ


c.
+18 dBZ (SC 2570, Vol 6, page 3-12) 


d.
+30 dBZ

132.
Under conditions where winds steadily increase with height, you would expect the strongest winds to be at 
the __________ of the radar display.


a.
center


b.
left side


c.
right side


d.
outer edges (SC 2570, Vol 6, page 3-17)

133.
When the Doppler zero line has a noticeable forward S-shaped pattern, winds are considered to be 
__________ with height.


a.
backing


b.
veering (SC 2570, Vol 6, page 3-21)


c.
increasing


d.
decreasing

134.
The Spectrum Width product is most effective when ____________.


a.
used alone


b.
used with other products (SC 2570, Vol 6, page 3-32)


c.
displayed in 16 data levels


d.
overlaid on composite reflectivity

135.
The melting level is displayed on the Composite Reflectivity product as a ______________.


a.
circular pattern of higher reflectivities  (SC 2570, Vol 6, page 3-48)


b.
series of ellipses centered over each snowshower


c.
series of range folded echoes indicative of ice forming on the radome


d.
concentric ring of lower reflectivities

136.
Weakening velocities and decreasing height are characteristics of the __________ stage of the mesocyclone.


a.
mature


b.
cumulus


c.
organizing


d.
dissipating (SC 2570, Vol 6, page 3-76)

137.
The Vad Wind profile (VWP) displays __________.


a.
the radial component of the wind


b.
the true wind speed and direction (SC 2570, Vol 6, page 3-84)


c.
radial winds, provided the rms is less than 4m/sec


d.
only the component of the wind perpendicular to the beam.

138.
The Storm Segments algorithm performs best when __________.


a.
solid lines of thunderstorms are present


b.
a mesoscale convective complex is present


c.
embedded multicell thunderstorms are nearby


d.
isolated, well defined thunderstorms are present (SC 2570, Vol 6, page 3-111)

139.
That portion of a storm which extends beyond the edge of the lowest elevation storm component best defines 
__________.


a.
storm flank


b.
storm top


c.
storm overhang (SC 2570, Vol 6, page 3-122)


d.
storm updraft region

140.
You can find the list of products available via one time request by a Non-associated PUP in the __________.


a.
FMH 11 (FMH 11, part A, page 7-3, 7-4)


b.
Glossary of Meteorology


c.
Operational Support Facility charter


d.
National Severe Storms Lab index of products

5 LEVEL CDC QUESTIONS

141.
How many degrees Celsius does the standard temperature decrease per 1000 meters of altitude in the 
troposphere?


a.
3.5


b.
4.5


c.
5.5


d.
6.5 (CDC 1W051B, Vol 2, page 2-3)

142.
The maximum amount of water vapor the air can hold is __________ percent by volume.


a.
3


b.
4 (CDC 1W051B, Vol 2, page 2-5)


c.
5


d.
6

143.
The two gases most responsible for the absorption of incoming solar radiation are __________.


a.
oxygen and ozone (CDC 1W051B, Vol 2, page 2-12)


b.
oxygen and water vapor


c.
ozone and water vapor


d.
ozone and carbon dioxide

144.
__________ are the three circulation cells in the three-cell circulation theory.


a.
High, Middle, Low


b.
Petterssen, Hadley, and Ferrel


c.
Polar, Hadley, and Ferrel (CDC 1W051B, Vol 2, page 2-25)


d.
Polar, Subtropical, and Tropical

145.
__________ sets into motion and largely sustains the earth's circulation pattern.


a.
Differential heating (CDC 1W051B, Vol 2, page 2-26)


b.
The earth's rotation


c.
The earth's revolution


d.
The effect of the three cell circulation pattern

146.
__________ starts the horizontal movement of air over the earth's surface.


a.
Friction


b.
Coriolis force


c.
Centrifugal force


d.
Pressure gradient force (CDC 1W051B, Vol 2, page 2-26)

147.
When friction is present, wind speed is __________ which __________ the effect of Coriolis force.


a.
reduced / lessens (CDC 1W051B, Vol 2, page 2-29)


b.
reduced / strengthens


c.
increased / lessens


d.
increased / strengthens

148.
__________ is the merging of wind flow into a common axis of flow.


a.
Difluence


b.
Confluence (CDC 1W051B, Vol 2, page 2-33)


c.
Subgradient wind


d.
Supergradient wind

149.
__________ is the spreading apart of wind flow from a common axis of flow.


a.
Difluence (CDC 1W051B, Vol 2, page 2-33)


b.
Confluence


c.
Subgradient wind


d.
Supergradient wind

150.
A wind which is adjusting to a rapid decrease in contour gradient force (or pressure gradient force) 
downstream is the definition of a __________.


a.
subgradient wind


b.
supergradient wind (CDC 1W051B, Vol 2, page 2-33)


c.
subgeostrophic wind


d.
supergeostrophic wind

151.
A wind which is adjusting to a rapid increase in contour gradient force (or pressure gradient force) 
downstream is the definition of a __________.


a.
subgradient wind (CDC 1W051B, Vol 2, page 2-33)


b.
supergradient wind


c.
subgeostrophic wind


d.
supergeostrophic wind

152.
Tertiary circulations are the result of __________.


a.
migratory pressure systems


b.
stagnant high pressure systems


c.
weak thermal low pressure systems


d.
the earth's rough surface and temperature differences between land and water (CDC 1W051B, Vol 

2, page 2-39)

153.
Change in wind speed over distance (speed shear) is greatest __________ of the jet stream as you look in the 
direction of flow.


a.
below and to the left


b.
below and to the right


c.
above and to the left (CDC 1W051B, Vol 2, page 2-47)


d.
above and to the right

154.
The polar front jet usually cuts the 500mb surface along the __________ isotherm.


a.
-110C


b.
-170C (CDC 1W051B, Vol 2, page 2-53)


c.
-260C


d.
-310C

155.
The most effective and fastest way to form an air mass is __________, while __________ is the least 
efficient and slowest.


a.
turbulent convective transport of heat upwards / cooling by radiation (CDC 1W051B, Vol 2, page 


2-63)


b.
transport of heat by evaporation and condensation / cooling by radiation


c.
cooling by radiation / transport of heat by evaporation and condensation


d.
turbulent convective transport of heat upwards / transport of heat by evaporation and condensation

156.
Air masses are classified with letter identifiers according to their __________.


a.
moisture content


b.
average temperature


c.
speed and direction of movement


d.
source region and characteristics (CDC 1W051B, Vol 2, page 2-65)

157.
Both __________ and __________ would tend to decrease stability in an air mass.


a.
cooling from below / addition of moisture


b.
cooling from below / removal of moisture


c.
heating from below / addition of moisture (CDC 1W051B, Vol 2, page 2-69)


d.
heating from below / removal of moisture

158.
__________ is the measure of spin around the vertical axis of an object.


a.
Rotation


b.
Vorticity (CDC 1W051B, Vol 2, page 3-8)


c.
Divergence


d.
Vertical velocity

159.
__________ is caused by wind shear and contour curvature.


a.
Vertical vorticity


b.
Relative vorticity (CDC 1W051B, Vol 2, page 3-9)


c.
Absolute vorticity


d.
Potential vorticity

160.
Positive Vorticity Advection (PVA) will cause all of the following except __________.


a.
height/surface pressure falls


b.
decreasing humidity (or increasing at a slower rate) (CDC 1W051B, Vol 2, page 3-12/13/14)


c.
convergence (or decreasing divergence) at the lower levels


d.
cooling of the vertical air column (or warming at a slower rate)

161.
Negative Vorticity Advection will cause all of the following except __________.


a.
height/surface pressure rises


b.
decreasing humidity (or increasing at a slower rate)


c.
divergence (or decreasing convergence) at the lower levels


d.
cooling of the vertical air column (or warming at a slower rate) (CDC 1W051B, Vol 2, page 3-


12/13/14)

162.
Warm Air Advection (WAA) at the gradient level into a ridge __________.


a.
fills it at the upper levels


b.
builds it at the upper levels (CDC 1W051B, Vol 2, page 3-17)


c.
deepens it at the upper levels


d.
weakens it at the upper levels

163.
Warm Air Advection (WAA) at the gradient level into a trough __________.


a.
fills it at the upper levels (CDC 1W051B, Vol 2, page 3-17)


b.
builds it at the upper levels


c.
deepens it at the upper levels


d.
weakens it at the upper levels

164.
Cold Air Advection (CAA) at the gradient level into a trough __________.


a.
fills it at the upper levels


b.
builds it at the upper levels


c.
deepens it at the upper levels (CDC 1W051B, Vol 2, page 3-17)


d.
weakens it at the upper levels

165.
Cold Air Advection (CAA) at the gradient level into a ridge __________.


a.
fills it at the upper levels


b.
builds it at the upper levels


c.
deepens it at the upper levels


d.
weakens it at the upper levels (CDC 1W051B, Vol 2, page 3-17)

166.
When contours and isotherms are out-of-phase, advection is occurring and the atmosphere is described as 
__________.


a.
baroclinic (CDC 1W051B, Vol 2, page 3-26)


b.
barotropic


c.
geostrophic


d.
homogeneous

167.
When contours and isotherms are in-phase, advection is not occurring and the atmosphere is described as 
__________.


a.
baroclinic


b.
barotropic (CDC 1W051B, Vol 2, page 3-26)


c.
geostrophic


d.
homogeneous

168.
A low pressure system that is usually shallow, seldom seen above the 850mb level, and lacks upper level 
support is the definition of __________.


a.
a stable wave (CDC 1W051B, Vol 2, page 3-27)


b.
an unstable wave


c.
a mature wave


d.
a decaying wave

169.
A low pressure system that deepens and undergoes cyclogenesis, has upper level support, and extends high 
into the troposphere is the definition of __________.


a.
a stable wave


b.
an unstable wave (CDC 1W051B, Vol 2, page 3-27/28)


c.
a mature wave


d.
a decaying wave

170.
A low pressure system must have three different air masses to be __________.


a.
a stable wave


b.
an unstable wave


c.
a mature wave (CDC 1W051B, Vol 2, page 3-28)


d.
a decaying wave

171.
When the warm air is cut off from a low pressure system, and the system becomes cold-core or barotropic, the 
system is known as __________.


a.
a stable wave


b.
an unstable wave


c.
a mature wave


d.
a decaying wave (CDC 1W051B, Vol 2, page 3-29)

172.
Intense cyclogenesis normally occurs in troughs __________.


a.
with a positive tilt


b.
with a negative tilt (CDC 1W051B, Vol 2, page 3-30)


c.
that are vertically stacked


d.
with strong convergence aloft

173.
Squall lines will usually occur 50 to 200 miles __________.


a.
behind an active cold front


b.
behind an inactive cold front


c.
ahead of an active cold front


d.
ahead of an inactive cold front (CDC 1W051B, Vol 2, page 3-62/63)

174.
__________ systems have the largest scale and a horizontal extent greater than 1,080 miles (2,000 
kilometers) or a duration of several days to over a week.


a.
Synoptic


b.
Mesoscale


c.
Microscale


d.
Macroscale (CDC 1W051B, Vol 3, page 1-3)

175.
__________ systems vary in size horizontally between 108 miles (200 kilometers) and 1,080 miles (2,000 
kilometers) and will have a life cycle from tens of hours to several days.


a.
Synoptic (CDC 1W051B, Vol 3, page 1-3)


b.
Mesoscale


c.
Microscale


d.
Macroscale

176.
__________ systems vary in size horizontally between 1 mile (2 kilometers) and 500 miles (926 
kilometers) and will have a life cycle from tens of minutes to several hours.


a.
Synoptic


b.
Mesoscale (CDC 1W051B, Vol 3, page 1-3)


c.
Microscale


d.
Macroscale

177.
__________ systems are the smallest weather systems and have a horizontal extent of generally less than 1 
mile (2 kilometers) and a duration of a few seconds to a few minutes.


a.
Synoptic


b.
Mesoscale


c.
Microscale (CDC 1W051B, Vol 3, page 1-3)


d.
Macroscale

178.
Which parameter is a reason for upward vertical motion?


a.
convergence aloft


b.
cold air advection


c.
warm air advection (CDC 1W051B, Vol 3, page 1-10)


d.
low-level divergence

179.
Which parameter is a reason for downward vertical motion?


a.
divergence aloft


b.
cold air advection (CDC 1W051B, Vol 3, page 1-10)


c.
warm air advection


d.
low-level convergence

180.
When the normal component flow is more than __________ percent of the movement of the discontinuity 
line, a trough exists within one air mass, not a front separating two different air masses.


a.
50


b.
60


c.
70


d.
80 (CDC 1W051B, Vol 3, page 1-25)

181.
The area covered by a Local Area Work Chart (LAWC) is normally the distance most storm systems move in 
__________ hours.


a.
12


b.
24 (CDC 1W051B, Vol 3, page 1-27)


c.
36


d.
48

182.
Of the parameters listed below, the __________ is the best test for differentiating between a front and a 
trough.


a.
dew point (CDC 1W051B, Vol 3, page 1-39)


b.
temperature


c.
wind flow pattern


d.
pressure tendency

183.
When locating a front on the 850mb chart, the 850mb isotherms should lie __________ to the front and show 
packing on the __________ side of the frontal zone.


a.
parallel / cold (CDC 1W051B, Vol 3, page 1-41)


b.
parallel / warm


c.
perpendicular / cold


d.
perpendicular / warm

184.
When analyzing the SFC/1000-500mb thickness chart, the polar front jet is located __________.


a.
centered on the tightest thickness packing (CDC 1W051B, Vol 3, page 1-42)


b.
centered on the weakest thickness packing


c.
on the cold side of the tightest thickness packing


d.
on the warm side of the tightest thickness packing

185.
The __________ wind is a wind without a correction for friction and curvature of flow.


a.
vector


b.
thermal


c.
gradient


d.
geostrophic (CDC 1W051B, Vol 3, page 2-5)

186.
The __________ wind is a more accurate estimate of true wind speed.


a.
vector


b.
thermal


c.
gradient (CDC 1W051B, Vol 3, page 2-5)


d.
geostrophic

187.
The vector difference between the geostrophic winds at two levels is called the __________ wind.


a.
actual


b.
thermal (CDC 1W051B, Vol 3, page 2-5)


c.
gradient


d.
thickness

188.
During a moisture analysis, isodrosotherms __________ cross an isotherm of the __________.


a.
should never / same or lower value (CDC 1W051B, Vol 3, page 2-9)


b.
should never / same or higher value


c.
will occasionally / same or lower value


d.
will occasionally / same or higher value

189.
A strong cold front will normally have isotherms that show strongest packing in the __________ air and the 
isotherms will also be __________ to the front.


a.
cold / parallel (CDC 1W051B, Vol 3, page 2-10)


b.
warm / parallel


c.
cold / perpendicular


d.
warm / perpendicular

190.
A minor short wave will move at __________ the 700mb flow, while a major short wave will move at 
__________ the 700mb flow.


a.
nearly / 50 percent of


b.
25 percent of / 70 percent of


c.
nearly / 70 percent of (CDC 1W051B, Vol 3, page 2-13)


d.
25 percent of / 70 percent of

191.
Vorticity advection lobes are an excellent indicator of the location of __________.


a.
short wave troughs


b.
short wave ridges


c.
short wave and long wave troughs


d.
short wave troughs and short wave ridges (CDC 1W051B, Vol 3, page 2-14)

192.
Blocking highs most commonly occur during __________ and move __________ during intensification.


a.
summer / eastward


b.
summer / westward


c.
late winter or early spring / eastward


d.
late winter or early spring / westward (CDC 1W051B, Vol 3, page 2-20)

193.
Directional __________ is the spreading out of wind flow or contours which results in mass being 
__________ an area.


a.
difluence / added to


b.
difluence / removed from (CDC 1W051B, Vol 3, page 2-23)


c.
confluence / added to


d.
confluence / removed from

194.
Directional __________ is the coming together of wind flow or contours which results in mass being 
__________ an area.


a.
difluence / added to


b.
difluence / removed from


c.
confluence / added to (CDC 1W051B, Vol 3, page 2-23)


d.
confluence / removed from

195.
The strongest Positive Vorticity Advection (PVA) will occur __________.


a.
ahead of the vorticity ridge


b.
behind the vorticity trough


c.
ahead of the vorticity trough (CDC 1W051B, Vol 3, page 2-30)


d.
at the axis of the vorticity ridge

196.
On the vorticity chart, the exact areas and strength of vorticity advection is determined by the __________.


a.
value assigned to an upstream vorticity isopleth


b.
packing of the upstream 500mb contours and the vorticity isopleths


c.
angle of intersection between the 500mb contours and vorticity isopleths (CDC 1W051B, Vol 3, 


page 2-30)


d.
values assigned to the upstream 500mb contours and the vorticity isopleths

197.
The two types of contrails are __________.


a.
conductive and convective


b.
aerodynamic and conductive


c.
engine exhaust and convective


d.
engine exhaust and aerodynamic (CDC 1W051B, Vol 3, page 3-4)

198.
A condition where the observed vertical temperature lapse rate is less than the dry and moist adiabatic lapse 
rate describes the atmosphere when it is considered to be __________.


a.
absolutely stable (CDC 1W051B, Vol 3, page 4-11)


b.
absolutely unstable


c.
conditionally stable


d.
conditionally unstable

199.
A condition where the observed vertical temperature lapse rate is greater than the dry and moist adiabatic 
lapse rate describes the atmosphere when it is considered to be __________.


a.
absolutely stable


b.
absolutely unstable (CDC 1W051B, Vol 3, page 4-12)


c.
conditionally stable


d.
conditionally unstable

200.
A condition where the observed vertical temperature lapse rate is less than the dry adiabatic lapse rate but 
greater than the moist adiabatic lapse rate describes the atmosphere when it is considered to be __________.


a.
absolutely stable


b.
absolutely unstable


c.
conditionally stable


d.
conditionally unstable (CDC 1W051B, Vol 3, page 4-12)

